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1 0.96 4,071 90, 868 37,233 20.7
2 0,92 4,071 T81, 736 167, 197 4.3
3 0.89 4,071 272, 504 242,618 B2.0
4 0.85 4,071 363,472 308, 951 52,8
5 0.82 - 4,071 363, 472 208, 047 2.6
8 0,70 4,071 363, 472 957, 143 3.6
7 0.76 4,071 363, 472 276, 239 2.5
3 0.73 4,071 363, 472 265, 335 2.6
g 0.70 3,071 363,472 753, 430 3.5
0 0.88 4,071 963, 472 247, 161 3.5
11 0.65 1,071 363, 472 738, 257 2.5
iz 0.62 4, 071 763, 472 295, 353 2.6
13 0.60 4,071 363, 472 718, 083 3.6
4 0.58 4,071 363, 472 710, 814 2.5
15 0.56 4071 363, 472 203, 544 2.8
16 0.53 3,071 363, 472 192, 640 2.5
17 0,51 4,071 363,472 185, 371 82.5
8 0.49 4,071 363, 472 178, 101 2.6
19 0,47 4,071 363, 472 170, 832 3.6
20 0.46 4,071 363, 472 167,197 82.5
21 0.44
22 0.42
73 0.41
2 0.39
% 0.38
26 0.38
27 0.35
78 0.33
1] 0.32
20 0.31
3l 0.30
2 0.23
33 0.27
3 0.%8
% 0.25
26 0.24
27 0.23
8 0.23
3 0.22
40 0.21
1 0.20
42 0.19
3 0.19
44 0.13
45 0.17
46 i.16
47 [T
48 0.15
49 0.15
50 0.14
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1.00
1 0. 96 4,071 16, 563 10, 140 796, B96. 3
2 0.92 4,071 21,125 19, 435 1.503, 796.5
3 0. 89 4,071 31,688 28,202 2. 390, 684. 8
4 0.85 4,071 A2, 261 35,913 3,187, 593.0
5 0.32 4, 071 43,251 34, 646 3,187, 593. 0
[ 0.79 4,071 42,251 33,378 3. 187,593. 0
7 0.76 4,071 42, 251 32,111 3,187,593. 0
3 0.73 4. 071 42,251 30, 343 g, 187, 503. 0
9 0.70 4, 071 42, 951 29,576 3,187,503.0
10 0.68 4,071 42, 251 28.731 3, 187,508, 0
1 0.65 4,071 42, 251 27, 463 3,187,583.0
12 0,62 4,071 42,251 26. 198 3,187,503, 0
13 0.60 4,071 42, 251 78, 351 3,187,504, 0
14 0.58 4,071 42,251 24,506 3, 187,508 0
15 0.56 4,071 12, 251 23, 661 3, 187.503. 0
18 0.53 4,071 42,251 22, 393 3, 187, 503. 0
17 0.51 4,071 42,251 21,548 3, 187,593. 0
18 0.4 4,071 42,251 20, 703 3,187,593, 0
19 0.47 4,071 42,251 19,858 3,187,593, 0
20 0.46 4,071 42, 251 19,435 3, 187,503. 0
21 0.44
22 0.42
) 0.41
24 0.30
25 0.38
26 0.36
27 0.35
28 0.33
29 0.32
30 0.31
3l 0.30
32 0.29
33 0.27
34 0. 26
35 0.25
36 0.24
37 0.23
38 0,23
39 0.22
0 0.21
41 0.20
42 0.19
43 0.1%
44 0.18
45 0.17
48 0.16
47 0.16
43 0.15
49 0.15
50 0.14
i (BREH) 514,089
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A EENFEZETH (ha) 4,071
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Dt : FREBRH O ER 0.510
p2: HEFERH, TERAROTFTR 0. 560
Ux : Bhr¥= v o brkGERARE (F,/03) 178.83
Uy : Birlfe v omkEe® (M3 68.57
I Bfrslife 0 oAk EREE U x Uy 2BAVWTQ x £Q yCHARSLTHEY) (A/13) 77.9
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b S @ WEHREMEN (ha) ® @e®x® |(D2-DUxAxPx10 H o=
1.00
1 0.96 4,071 82, 078 59, 595 786, 898.3
2 0.92 4,071 124,157 114,224 1, 593, 796.5
3 .89 4,071 186, 23b 166, 749 2,390, 694. 8
4 0,85 4,071 248, 313 211,066 3, 187,503.0
5 {.82 4,071 248, 313 203, 817 3, 187,593.0
[ 0.79 4,071 248,313 196, 167 3, 187,593.0
7 0.76 4,071 248, 313 188,718 3, 187,583.0
8 0.73 4,071 248, 313 181, 268 3,187,593.0
] 0.70 4,071 248,313 173,819 3, 187,593.0
10 0.68 4,071 248, 313 168, 853 3,187, 593.0
11 0.65 4,071 248, 313 161, 403 3. 187,593.0
12 0.62 4,071 248,313 153, 954 3, 187,593.0
13 . 0.680 4,071 248, 313 148, 988 3, 187,593.0
14 0.58 4,071 248, 313 144, 022 3, 187,593. 0
16 0.58 4,071 248, 313 139, 055 3, 187,593.0
18 0.53 4,071 248, 313 131,606 3,187,593.0
17 0.51 4,071 248,313 126, 640 3, 187,593.0
18 0.49 4. 071 248, 313 121,673 3,187,593.0
19 0.47 4.071 248, 313 118, 707 3, 187,593.0
20 0.48 4.071 248, 313 114,224 3. 187,593.0
21 0.44
22 0.42
23 0.41
24 0.39
25 0,38
26 0.36
27 0,35
28 0.33
29 0.32
30 0.3t
31 0,30
32 0.29
33 0,27
34 0.26
35 0.25
36 0.24
37 0.23
38 0.23
39 0.22
.40 021
4] 0.20
42 0.19
43 b, 9
44 0.18
45 0. 17
46 0,16
47 0.16
48 0. 15
49 0.15
50 0. 14
A5 (B3EE) 3,021,348
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2 uMReiRE

10)]

OB AL (EBH ML)

T=1 . ¥ ;
z n + z " % (VI-v2)xAxU
£=1 Tx (1+i) £=T (1+4)
u 130 ER2ELTELORETHHAMED OB Y AREIZ (B/29) 5,780
vl EXERENIZE T2 1 e ofEMBRLDE (03) 20,00
V2: EEREEERIISITD 1D 0SB ALDE (13) 1.30
A WM REREHE (ha) 4,071
T FEEEE, HBERIRET DO LTLEN- () 4
Y FEIR () 20
i HEmEsIER (%) 4
HRAE LR SRR (Hfr - /)
N 3 FEREEH R iE B AEHE (m3/ )
g8 x ® FRABEMTR (=) ® @=0x® | (VI-V)xA i
1.00
1 0.96 4,071 110, 005 106. 605 10,081.9
2 0.92 4,071 720.009 202, 408 38, 063. 0
3 0. 89 4,071 330,014 293, 12 57,0958
4 0.85 4,071 440,018 374, 015 78,127.7
5 0. 82 4,071 440, 018 360, B15 76, 127. 7
8 0.79 4,071 440,018 347, 614 78, 127. 7
7 0.78 4,071 440, 018 334, 414 76, 127.7
3 0.73 4,071 440,018 321, 213 76, 127.7
0.70 5,071 440,018 308. 013 76,127.7
10 0. 68 4,071 440, 018 298, 212 76, 127. 7
11 0.65 4,071 440, 018 286, 012 76, 127.7
12 0.62 4,071 340,018 272, 811 76, 127.7
13 0,60 4,071 340, 018 264, 011 T, 127.7
14 0.58 1,071 340,018 255, 210 76.127.7
15 0.56 4,071 340,018 246,410 76,127, 7
16 0.53 4,071 440, 018 233, 210 T8, 127, 7
17 0,51 4,071 340, 018 224, 408 76, 127.7
18 0.49 1,071 340, 018 215, 603 - 76, 1271
19 0.47 4,071 440, 018 206, 808 76, 127.7
20 0. 48 4,071 440, 018 202, 408 76, 127.7
2 0.44
22 0.42
23 0,41
24 0.38
25 0.38
28 0. 36
27 0. 35
28 0.33
29 0.32
30 0.3l
31 0.30
32 0.29
33 0, 27
34 0. 26
35 0.25
36 0.24
37 0.23
38 0.23
39 0.22
40 0. 21
4] o 20
42 0.19
13 0.19
44 0.13
45 0.7
18 0.18
17 L.16
48 - 0.15
49 0.15
50 0.4
BE RHEE) 5, 353, 910
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3 WEERLSHE

)]

LR BRI E
(€3 k5 es)]
Y 1
z x (€162 x A x 03 x—2 .y
a+n - 12
t=1
— sXel _ sXel .
o= 2o : c2= S
U: ZEMERF BT a2 RHEAr (F/t-C02) 8., 048
Cl: ERESEE L WEASOEMRHADECSINIRESE (t-C/ha) 0.57
c2: HREPHELPLSOEMBHIDRITE TS EER (t-C/ha) 0. 04
Y OBRAEEHNen- ETHECoER (D B 6] 20
@RI B ATED Ieniz E L A VB A2 SRIEANR (42)
A B KRR (ha) 4,071
53 BArmisH e D OB RHREENRE (-C/h) 84,95
44/12 1 RE» D L RE~DBIEFS
el : HEFERLLVWESOBEE (cn/d) 0. 2000
e2: BEEEN LB A0BAE on/4) 0.0130
30: TERFONERE (o
0.3: T A R
i: HEMHHEE (%) 4
pE S ST ST T (B : M)
. =5 1% EREE FEM TR (C02-1/55)
8 & ® FRUBEMTH (ha) @ @=Dx® (G1-C2) X A% 0, 8% 44/12 W %
1.00
1 0.96 4, 071 14, 350 13, 776 2,373.4
2 0.92 4,071 14, 350 13, 202 2.373.4
3 0. 89 4,071 14,350 12,712 2,373.4
4 0.85 4,071 14,350 12, 198 2,373.4
5 0.82 4,071 14, 350 11,767 2,373.4
5 0.79 4,071 14, 350 11,337 3, 373.4
7 0.76 4071 14, 350 10,908 2.378.4
3 0.73 4,071 14, 350 i0, 476 2.373.4
g 0.70 4, 171 14, 350 10, 045 2.373.4
10 0.68 4,071 14, 350 9, 758 2,373.4
1 0.65 4,071 14, 350 9,328 Z.878.4
12 0.62 4071 14. 450 8,897 2.373.4
13 0.60 4,071 14. 350 8,610 2,.373.4
14 0.58 4,071 14,350 §. 323 2.373.4
15 0.56 4,071 14, 350 8, 036 2.373.4
16 0.53 4,071 14, 350 7,606 2.373.4
17 0.51 4,071 14, 350 7,318 2.373.4
18 0.49 4,071 14,350 7.032 2,373.4
19 0.47 4,071 14, 350 8, 745 2.373.4
20 0. 46 7,071 14, 350 6. 601 2,373.4
21 0.44
22 0.42
23 0.41
24 0.39
25 038
26 0.38
27 0,35
28 0.43
29 052
30 0.31
3l 0.30
2 0.29
33 0. 27
34 0.26
35 0.25
36 0.24
37 0.23
38 0.23
3% 0.22
40 0. 21
4] 0.20
42 0.19
43 0.18
44 0.18
15 0.17
46 0.16
47 0.16
48 0.15
49 0.15
50 0.14
&3 e 194. 734
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BRMA (C) EMX
(B4 : ha - F)
TENG _
il 1 - BAE | B | B iyt
W | %A | mR | WW | mE | RA
: 4. 071 1,421, 269 1, 421, 269 1.00 | 1,421, 269
1 : L ' 0. 96
2 0. 92
3 0.89
4 0.85 |
5 0.82
b 0.79
T 076
] 0.73
9: ' : 0.70 ’
10 4,071] 1, 901, 157 1, 901, 157 0.68 | 1,292 787|467FHM/ha
11 ’ ' : 0. 65 L
12 ) 0. 62
13 0. 60
14 0. b8
15 0. 56
16 0. 53
17 0. 51
18 0. 4%
19 0. 47
20 0. 46
21 0. 44
22 0. 42
23 0. 41
24 0. 39
25 0. 38
26 0. 36
27 0. 35
28 0.33
29 0.32
30 0. 31
31 0. 30
32 0.29
33 0.27
34 0. 26
3b 0. 25
36 0.4
37 0. 23
38 0.23
39 0.22
40 0.21
4] 0. 20
42 0. 18
43 0. 1%
44 0. 8
45 0. 17
46 0. 16
47 0. 16
43 {.15
49 0.15
50 0. 14
=X 3, 322, 428 3,322, 426 2. 714,056
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